<|DOCTYPE hml PUBLIC *-f/NMD®//OTD HML 0.3//EN" "http://fwww.nmdp.org/DTD/hmi-0.3.3.ded™>
<hml version="0.3.3">

<project name="NA"><reporting-center code="NA"/>
<sample id ="sample id 17 centercode="">
<typing>

<interpretation date="20211029">
<genotype-list db="KIR" version="2.6.00">
=diploid-combination>

<locus-block=

<allele-list>

<allele present="Y"=2 DlL1</allele=
<fallele-list>

</locus-block>

</diploid-combinations

</genotype-list>

<genptype-list db="KIR" version="2.5.0Y" >
<diploid-combination>

<locus-Mock=

<allele-list>

<allele present="Y"=2 D 2</allele=
<fallele-list>

<flocus-block>

</diplaid-combination>

</genotype-list>

zgenpiype-list db="KIR" version="2.6.0W">
<diploid-combination:

<locus-block=>

<allele-list>

<allele present="Y">20L3</allele>
=fallele-list>

<flocus-Mocks

</diploid-combinations

</genotype-list>

<genotype-list db="KIR" version="2.6.0V" >
<diploid-combination>

<locus-block>

<allele-list>

<allele present="Y">2 DiLd</allele=
<fallele-list>

<flocus-bock>

</diploid-combination>

</genotype-list>

<genotype-list db="KIR" version="2 5.0V"=
=diploid-combination:>

<locus-block=

<allele-list>

<allele present="Y"=2 DL5</allele>
<fallele-list>

<flocus-block>

</diploid-combination=

<fgenotype-list>

<genotype-list db="KIR" version="2.6.0V">
=diploid-combination>

<locus-Hock=

<allele-list=

<allele present="Y"=2D51</allele=



=fallele-list=

<flocus-block>

< diploid-combination=

</genotype-list>

<genotype-list db="KIR" version="2.6.0W" >
<diploid-combination>

<locus-block=

<allele-list>

<allele present="Y">2D52</allele>
<fallele-list>

<flocus-block>

=/diploid-combination=

</genotype-list>

<genotype-list db="KIR" version="2.6.0V">
=diploid-combination>

<locus-block>

<allele-list>

<allele present="N">2D53</allele>
<fallele-list=

<flocus-block>

</diploid-combination>

< genotype-list>

<gendtype-list db="KIR" version="2.6.0V" >
=diploid-combination=

<locus-block>

<allele-list>

<allele present="N">2D54< allele>
<fallele-list>

<flocus-block>

</diploid-combination=

< /genotype-list>

=genotype-list db="KIR" version="2.6.0V">
<diploid-combination=

<locus-block=

<allele-list>

<allele present="Y">2D55</allele>
<fallele-list=

<flocus-block>

</diploid-combination=

</genotype-list>

<genotype-list db="KIR" version="2.6.04">
=diploid-combinations

<locus-block>

<allele-list>

<allele present="Y">2 DP1</allale>
=fallele-list>

<flocus-block=

< /diploid-combination=

</genotype-list>

<genotype-list db="KIR" version="2.6.0%">
=diploid-combination=

<locus-block>

<allele-list>

<allele present="N">3DL1</allele>
=fallele-list=

= flocus-block=

</diploid-combination>



</genotype-list>

<genotype-list db="KIR" version="2.6.0V">
=diploid-combination=
<locus-block>

<allele-list=

<allele present="Y">30L2</allele>
<fallele-list>

<flocus-bock>
</diploid-combination>
</genotype-list>

<penotype-list db="KIR" version="2.6.0V" >
=diploid-combination=
<locus-block=

<allele-list=

zallele present="Y">3DL3</allele>
<fallele-list>

<flocus-block>
</diploid-combination=
</genotype-list>

=genotype-list db="KIR" version="2.6.0V">
<diploid-combination=>
<locus-block=

<allala-list>

=zallele present="Y">3D5%1</allele>
<fallele-list>

<flocus-Mock=
</diploid-combination>
<fgenotype-list>

=gendtype-list db="KIR" version="2.6.0Y" >
<diploid-combination>
<locus-block>

<allele-list>

<allele present="Y">310P1</allele>
<fallele-list>

<flocus-block=
</diploid-combination=
=/genctype-list>
<finterpretations

<ftyping>

<fsample>

<fproject=<Shml=



